|m|euroline

Der sichere Aufstieg

Anbauanleitung Radsatz 316 AuRenteil, Art.-Nr.: 3160010

Stiickliste:

2 Stick  Mutter M8, DIN985

2 Stiick  Scheibe @8,5 x @24

2 Stick  Rad @100

4 Stiick  Hdlse, L=20

2 Stlick 7005518 Radbeschlag

2 Stuck  Sechskantschr. M8x55, DIN933
2 Stiick Flachrundschr. M6x16, DIN603
2 Stiick  Scheibe 96,4 x @18

2 Stick  Mutter M6, DIN934

BemaRung / Bohrbild:

K:\05 Anleitungen\Anbauanleitung Radsatz 316 AuRenteil





